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1. The angles of quadrilateral are in the ratio 3
5 : 9 : 13. Find all the angles of the

quadrilateral.

o Watch Video Solution

2. If the diagonals of a parallelogram are

equal, show that it is a rectangle.

° Watch Video Solution



https://dl.doubtnut.com/l/_LL2UHbnxVKOx
https://dl.doubtnut.com/l/_Kxo5Gcuu3znc

3.Show that if the diagonals of a quadrilateral
bisect each other at right angles, then it is a

rhombus.

o Watch Video Solution

4. Show that the diagonals of a square are

equal and bisect each other at right angles.

° Watch Video Solution



https://dl.doubtnut.com/l/_8Xpwpo4TcEXI
https://dl.doubtnut.com/l/_B3NOVBjg5RpS

5.Show that if the diagonals of a quadrilateral

are equal and bisect each other at right

angles, then it is a square.

S

R

o Watch Video Solution



https://dl.doubtnut.com/l/_ddV0zgrNN3Yk

6. Diagonal AC of a parallelogram ABCD bisects
A. Show that

it bisects C also

D C

o Watch Video Solution

7.Diagonal AC of a parallelogram ABCD bisects

A. Show that


https://dl.doubtnut.com/l/_Ovmdm4hUU2go
https://dl.doubtnut.com/l/_WI8qLFaqhnCY

ABCD is a rhombus.

D C

AT ' B

° Watch Video Solution

8. ABCD is a rhombus. Show that diagonal AC
bisects A as well as C and diagonal BD bisects

B as well as D.



https://dl.doubtnut.com/l/_WI8qLFaqhnCY
https://dl.doubtnut.com/l/_dN0wb08LIXuz

I 0 Watch Video Solution I

9. ABCD is a rectangle in which diagonal AC
bisects A as well as C. Show that :

ABCD is a square

D _C

° Watch Video Solution



https://dl.doubtnut.com/l/_dN0wb08LIXuz
https://dl.doubtnut.com/l/_O1zpzNc7syAN

10. In AABC and ADEF, AB= DE, AB || DE,
BC= EF and BC|E|F. Vertices A, B and C are
joined to vertices D, E and F respectively. Show
that

Quadrilateral ABED is a parallelogram

o Watch Video Solution



https://dl.doubtnut.com/l/_NZKJRBb4zh42

1. In AABC and ADEF, AB= DE, AB || DE,
BC= EF and BC|E|F. Vertices A, B and C are
joined to vertices D, E and F respectively. Show
that

Quadrilateral BEFC is a parallelogram

o Watch Video Solution



https://dl.doubtnut.com/l/_lTTMjnQejqah

12. In AABC and ADEF, AB= DE, AB || DE,
BC= EF and BC|E|F. Vertices A, B and C are
joined to vertices D, E and F respectively. Show
that

AD|C|F and AD = CF

o Watch Video Solution



https://dl.doubtnut.com/l/_GT7aj8aAJjwG

13. In AABC and ADEF, AB= DE, AB || DE,
BC= EF and BC|E|F. Vertices A, B and C are
joined to vertices D, E and F respectively. Show
that

quadrilateral ACFD is a parallelogram

o Watch Video Solution



https://dl.doubtnut.com/l/_4x8QKsLnJQga

14.In AABC and ADEF, AB= DE, AB || DE,
BC= EF and BC|E|F. Vertices A, B and C are
joined to vertices D, E and F respectively. Show
that

AC=DF

o Watch Video Solution



https://dl.doubtnut.com/l/_RUbhRE3zzbtV

15.In AABC and ADEF, AB= DE, AB || DE,
BC= EF and BC|E|F. Vertices A, B and C are
joined to vertices D, E and F respectively. Show
that

AABC = ADEF.

o Watch Video Solution



https://dl.doubtnut.com/l/_bk3E6AehgNGg

16. ABCD is a trapezium in which AB|C|D and
AD = BC. Show that

A=B

D C

° Watch Video Solution

17. ABCD is a trapezium in which AB|C|D and

AD = BC. Show that


https://dl.doubtnut.com/l/_DBRKgWCrh5wR
https://dl.doubtnut.com/l/_fN7hE1TxIWNS

C=D

iy C

° Watch Video Solution

18. ABCD is a trapezium in which AB|C|D and

AD = BC. Show that


https://dl.doubtnut.com/l/_fN7hE1TxIWNS
https://dl.doubtnut.com/l/_WVCPC0T1QPJX

AABC = ABAD

A B _'r

o Watch Video Solution

19. ABCD is a trapezium in which AB|C|D and

AD = BC. Show that


https://dl.doubtnut.com/l/_WVCPC0T1QPJX
https://dl.doubtnut.com/l/_WBk3LkFbOYEq

diagonal AC = diagonal BD

A B i

iy ¢

° Watch Video Solution

1. ABCD is a quadrilateral in which P,Q,R and S

are mid- points of the sides AB, BC, CD and DA.

AC is a diagonal. Show that :


https://dl.doubtnut.com/l/_WBk3LkFbOYEq
https://dl.doubtnut.com/l/_a882pUEQ0Hrt

1
SR|A|C and SR = EAC

1)

R

° Watch Video Solution

2. ABCD is a quadrilateral in which P,Q,R and S
are mid- points of the sides AB, BC, CD and DA.

AC is a diagonal. Show that :


https://dl.doubtnut.com/l/_a882pUEQ0Hrt
https://dl.doubtnut.com/l/_Z0V677xyLEJX

PQ=SR

° Watch Video Solution

3. ABCD is a quadrilateral in which P,Q,R and S
are mid- points of the sides AB, BC, CD and DA.

AC is a diagonal. Show that :


https://dl.doubtnut.com/l/_Z0V677xyLEJX
https://dl.doubtnut.com/l/_Fe4LRslQlu86

PQRS is a parallelogram.

1)

R

° Watch Video Solution

4. ABCD is a rectangle and P, Q, R and S are
mid-points of the sides AB, BC, CD and DA

respectively. Show that the quadrilateral PQRS


https://dl.doubtnut.com/l/_Fe4LRslQlu86
https://dl.doubtnut.com/l/_t46OColFtQXd

is a rhombus.

D R C
s >Q
A P B

o Watch Video Solution

5.ABCD is a trapezium in which AB|D|C,BD is
a diagonal and E is the mid-point of AD. A line

is drawn through E parallel to AB intersecting


https://dl.doubtnut.com/l/_t46OColFtQXd
https://dl.doubtnut.com/l/_ldyqFTSIX5T8

BC at F. Show that F is the mid-point of BC.

o Watch Video Solution

6. In a parallelogram ABCD, E and F are the
mid-points of sides AB and CD respectively.

Show that the line segments AF and EC trisect


https://dl.doubtnut.com/l/_ldyqFTSIX5T8
https://dl.doubtnut.com/l/_DPZhtsY16g3M

the diagonal BD.

o Watch Video Solution

7. Show that the line segments joining the
mid-points of the opposite sides of a

quadrilateral bisect each other.

o Watch Video Solution



https://dl.doubtnut.com/l/_DPZhtsY16g3M
https://dl.doubtnut.com/l/_7mRlXpUbZZSD

8. ABC is a triangle right angled at C. A line
through the mid-point M of hypotenuse AB
and parallel to BC intersects AC at D. Show
that

D is the mid-point of AC

° Watch Video Solution



https://dl.doubtnut.com/l/_7mRlXpUbZZSD
https://dl.doubtnut.com/l/_DdWCzktWJaKo

9. ABC is a triangle right angled at C. A line
through the mid-point M of hypotenuse AB

and parallel to BC intersects AC at D. Show

that
MD 1 AC
A
Qf-r---="" P
B C

I o Watch Video Solution


https://dl.doubtnut.com/l/_DdWCzktWJaKo
https://dl.doubtnut.com/l/_yYZ7wpCJKR3A

10. ABC is a triangle right angled at C. A line
through the mid-point M of hypotenuse AB
and parallel to BC intersects AC at D. Show
that

1
CM = MA = EAB

A

I ° Watch Video Solution


https://dl.doubtnut.com/l/_yYZ7wpCJKR3A
https://dl.doubtnut.com/l/_2kRXTaDeFZHE



https://dl.doubtnut.com/l/_2kRXTaDeFZHE

